A ‘ Enlargements (Negative SF)
- | <
REVISE THIS

1 Enlarge triangle A by scale factor -2, centre (5, 4)
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(Total for Question 1 is 2 marks)
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2 (a) Enlarge shape A by scale factor -3, centre (4, 14)

(b) Enlarge shape B by scale factor -1, centre (6, 5)
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(Total for Question 2 is 4 marks)
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3 (a) Enlarge shape A by scale factor -4, centre (-3, 2)

(b) Enlarge shape B by scale factor -0.5, centre (2, -4)

(Total for Question 3 is 4 marks)
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4 (a) Enlarge shape A by scale factor -2, centre (-2, 5)

(b) Enlarge shape B by scale factor f% , centre (-2, 0)
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(Total for Question 4 is 4 marks)
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5 (a) Enlarge shape A by scale factor —2% , centre (-4, 4)

(b) Enlarge shape B by scale factor -2, centre (-1, -5)
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(Total for Question 5 is 4 marks)
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(a) Describe fully the single transformation that maps shape A onto shape B.

Enlargement s.g..m\&.....ﬁ.qc+or e

Contre of enlargements (231 )

(b) Describe fully the single transformation that maps shape C onto shape D.

Enlargemeu\t} Scale ‘Sac)ror -2

Contre oﬂ' inw_‘uq emeny (2 1)

(Total for Question 6 is 4 marks)
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(a) Describe fully the single transformation that maps shape A onto shape B.

tn|arqe,meut Scale “ch+or — |

Centre oJ( QV\lqu emeny (15 &)

(b) Describe fully the single transformation that maps shape C onto shape D.

tn|ar’qemev\t Scale {qc)ror — )

Contre eﬂ’ QV\lqu ement; (L -\

(Total for Question 7 is 4 marks)
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(a) Describe fully the single transformation that maps shape A onto shape B.

tnloro,eme,u\t Scale “:qdor - 14

Cantre o& QV\larq ement, (-2 %)

(b) Describe fully the single transformation that maps shape C onto shape D.
\

tn |0rqe,me,v\t Scale ‘Fqc)ror — .73
CQ,V\\'( 3 e& QV\larq emenk Ll -1

(Total for Question 8 is 4 marks)

8

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

l’ . r@ @1stclassmaths

-6

-7

(a) Describe fully the single transformation that maps shape A onto shape B.

tn|arqe,meut Scale “ch+or -3

Conre oJ( QV\lqu ement (S5 5°5)

(b) Describe fully the single transformation that maps shape C onto shape D.

tn|ar’qemev\t Scale {ac)ror —%

CQ,V\’\'N. eﬂ’ inarqz,me,w’c =V -\)

(Total for Question 9 is 4 marks)
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Shape A is enlarged by scale factor 2 with centre of enlargement (-6, 5) to shape B.
Shape B is enlarged to shape C.

Describe fully the single transformation that maps shape B onto shape C.

- |
tn'argemev\t’, Scale 'gqc)mr — 14

Conkre frt inar\c}e,me,w’c (O -1

(Total for Question 10 is 4 marks)
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Shape A is enlarged by scale factor 0.5 with centre of enlargement (-3, 7) to shape B.
Shape A is enlarged by scale factor -2 with centre of enlargement (-3, -3) to shape C.

Describe fully the single transformation that maps shape C onto shape B.

\
tn'at’qemev«t Scale ‘Fqc-h)r —

Conkre of inarq ement (=3 V)

(Total for Question 11 is 4 marks)
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